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Q.l a)

b)

c)

Find the Laplace transfomr of t et sin2t cost. (05)

Fincl the inverse Laplace transfbrur of ;.:'?^ (05)
sz(s+3)

Detennine rvhether the firnction f(z): *' - y) + 2ixy is analyic and if so find its
derivative.

d) Find the Fourier series for f(x) : ,-lxl in the inten'al (-n ,r).

NIarks: 80

(05)

(05)

(06)

(06)

c) Sitorv that the function Ll : ?x ( 1 - y) is a harnionic t-r"rnction. Find its hannonic
conlugate and corresponding analytic ftinction. (08)

Q.3 a) Find the equation of the line of-regression of y on x for the follorving data (06)

Q.2 a) E'altrate ff # at

b) Find rhe Z-rranstbnn of f(k) : {::,' I 
=' 

J

b) Find the bilinear transfbnnation lr,lrich lnaps z -- 2 ,

c) Obtain the expansionof f(x):r (r - x) ,0< x {n

Hence shorv that If # :*

1.0

as il

ontow:1,0,l.(06)

haif range cosine series.

Q.4 a) Find the inverse Laplace Transfbrm by using convolution theorem
1

(s, + 1)Gr+r)
b) Calculate the coefficient of correlation benveen Price and Dernand.
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c) Find the inverse Z-transfomr for the tollou,ing :

i1 -'- ,lzl .5 1iy-L ,lzl>lz- 5 G_ t),

Q. P. Code: 21237

(08)

Q.5 a) Find the Laplace transtbnl of e-r sinr H(t - n) (06)

b)Shou,thatthesetofthrrctions{sirrx'sin3x,sin5x
oYer 10, nl2l. Hence construct or-thonomral set of functions. (06)

c) Solve usir,g Laplace transfbrm # - r# * y:3r e-r ,

given y(0) :4 and y '(0) :2. (0g)

Q.6 a) Find the cornplex form of Fourier series for f(x) : 3x in (.0, 2n). $A1

b) If f(z) is an analytic function with constanr modulus then .
prove that (z) is consrant. (00;

c) Fit a cllrve of the fonn y : axb to ilre tbllowing data. (0g)
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